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1. List three factors that account for the high percentage of rural residents in 1851.
a. __________________________________________________________________________________________________________________________________________
b. __________________________________________________________________________________________________________________________________________
c. __________________________________________________________________________________________________________________________________________
2. List two factors that account for the declining number of rural residents and increasing number of urban ( city) residents in 1911.
a. ________________________________________________________________________________________________________________________________________________
b. ________________________________________________________________________________________________________________________________________________
3. By the 1970’s , there was a significant decrease in rural residents. What is the biggest reason why the percentage of rural residents decreased.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

4. In 2011, almost 20% of Canadians remained in rural areas. Suggest two reasons why Canadians remain in rural areas.
a. __________________________________________________________________________________________________________________________________________
b. __________________________________________________________________________________________________________________________________________
